H £ 0l & AF & S

Al A

SN MESI
M LSS MEEY
Selr J=ME oA KZAY (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
MES I 36,181,836 33,118,479 3,063,357
= 30,292,873
[ 60,232
Al 4,346,848
- 1,438,523
= 43,360
NASE 482 26,988,521 23,154,019 3,834,502
= 24,202,924
Al 1,933,872
- 851,725
=M=z A KZA 26,980,821 23,127,451 3,853,370
= 24,202,924
Al 1,930,232
- 847,665
AHISE XA 50,400 36,812 13,588
Al 50,400
301 EetE NS 50,400 36,812 13,588
Al 50,400
02 A2 X LGS (FHAAHS, XNLWE) 50,400 36,812 13,588
OXH W SHI 30,400,000& 30,400
Al 30,400
O Sl 20,000,000 20,000
Al 20,000
MEsy= 7,294 6,038 1,256
308 XtXIEMSO0IH 7,294 6,038 1,256
08 w=J|20Het 2 7,294 6,038 1,256
Ouss0 7,294,000 7,294
HAZS0 20,000,000 16,600,000 3,400,000
= 18,000,000
Al 1,400,000
- 600,000
301 LEIE NS 20,000,000 16,600,000 3,400,000
= 18,000,000
Al 1,400,000
- 600,000
01 Al 2E A S(SRNEXMHE) 20,000,000 16,600,000 3,400,000
OdA=0 20,000,000,000& 20,000,000
= 18,000,000
Al 1,400,000
- 600,000
FHSN 6,708,027 6,294,101 413,926
= 6,037,224
Al 469,562




SN MERID
M LSS MEEY
2o JIzdE=sSA AFAY (SH &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
- 201,241
301 22N = 6,298,027 5,988,209 309,818
= 5,668,224
Al 440,862
T 188,941
01 Al EE AT Z(2DEXR) 6,298,027 5,988,209 309,818
OFHSH(SR20) 6,298,027,000& 6,298,027
= 5,608,224
Al 440,862
T 188,941
403 AXIEHMSAH=0ld 410,000 305,892 104,108
= 369,000
Al 28,700
T 12,300
02 S 2S0IC et == 2 EF A I 410,000 305,892 104,108
OFHSH(=ERXSH)
410,000,000& 410,000
= 369,000
Al 28,700
- 12,300
OIAHH] XI& A 11,600 0 11,600
= 5,800
Al 2,320
- 3,480
301 LEIE NS 11,600 0 11,600
= 5,800
Al 2,320
- 3,480
01 Al 2E AL S(FREXM) 11,600 0 11,600
OOIAHHI XIZAH 11,600,000 11,600
= 5,800
Al 2,320
- 3,480
SHAME RSO (L E) 105,000 93,000 12,000
= 94,500
Al 7,350
- 3,150
301 2N = 105,000 93,000 12,000
= 94,500
Al 7,350
- 3,150
01 Al EE A S (2 DEXR) 105,000 93,000 12,000
Ot AHE S (28 105,000,000 105,000
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SN MESI
M HASS MERY
&t SE2EE 2l (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSE XA - 2|28 S
800072352 1.960
OUEMA, 2HA3 oY 222 % S
2,000,000 2,000
Arefl 2| & & /A A 100 100 0
SIEE02ACIAL 2E 100 100 0
201 2= 100 100 0
01 AlR22IH| 100 100 0
OB (230122 0FRE XIg
50,0003 +2& 100
MNASSE Mgolet &4 3,074,586 2,746,952 327,634
= 2,679,614
Al 27,447
- 116,325
= 7,200
HASE & X 3,074,586 2,746,952 327,634
= 2,679,614
Al 27,447
- 116,325
= 7,200
Ag2=2 2,304,110 2,008,612 205,498
= 2,073,699
Al 161,288
T 69,123
307 elztol & 2,304,110 2,098,612 205,498
= 2,073,699
Al 161,288
- 69,123
11 AMEISXAEEES 2,304,110 2,008,612 205,498
OXEZZAM 2,304,110,000& 2,304,110
= 2,073,699
Al 161,288
- 69,123
INE:PA =Sl = EN L] 307,844 293,143 14,701
= 215,492
Al 64,646
- 27,706
307 @I2t01 & 307,844 293,143 14,701
= 215,492
Al 64,646
- 27,706
10 AlISXAZEE 22X 307,844 293,143 14,701
OXIGt2He 24| 307,844,000 307,844
= 215,492




SN MBI
M ASS NIY X4
gelr MASS g N (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 64,646
T 27,706
NS Xtgde 23 SXl+¢ 28,819 32,466 A3,647
Al 15,313
- 6,306
= 7,200
307 lztol & 28,819 32,466 N3,647
Al 15,313
- 6.306
= 7,200
10 Al2ISTIAIEEE2HIE X 28,819 32,466 A3,647
OX S XtzdE ME S+
21,619,000 21,619
Al 15,313
- 6.306
ORIFALSI S XA X S IH &
100,0002 6~ 122 7,200
= 7,200
22sAUE 22 S (MHAEEX) 433,813 322,731 111,082
= 390,423
Al 30,200
T 13,190
307 glztol & 433,813 322,731 111,082
= 390,423
Al 30,200
- 13,190
11 AMEISXAEEES 433,813 322,731 111,082
OslrI=SE | 2,940,000 2,940
= 2,636
Al 213
- 91
OslezIssE I 4,300,000 4,300
= 3,870
Al 301
- 129
ougsIss% 3,000,000 3,000
= 2,700
Al 210
- 0
OBEsLIISSE 3,000,000& 3,000
= 2,700
Al 210
- 0




FAN SE2F0
M ASS NIY X4
el MASE & A (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHEEM=AHH 20,000,000 20,000
= 18,000
Al 1,400
- 600
O3S M=HZ | 37,935,000 37,935
= 34,142
Al 2,655
- 1,138
O3 ME=AZHI 10,824,000 10,824
= 9,742
Al 757
- 325
OFYE L MEH Z-Rta2 05t
278,221,000 278,221
= 250,399
Al 19,303
- 8,519
OFEUHL MEAHZ-Rt &2 =1t
73,593,000& 73,593
= 66,234
Al 5,151
- 2,208
el =Xsd 5,961,544 7,078,775 A1,117,231
= 3,410,335
Al 2,126,470
- 411,739
= 13,000
oHel XS 5,961,544 7,078,775 A1,117,231
= 3,410,335
Al 2,126,470
- 411,730
= 13,000
Zofel A A 2,960 2,360 600
201 er2 3| 2,960 2,360 600
01 AtR2telHl 2,960 2,360 600
OIS HEAl F& 8002 700K 560
OHMIMESFI+E 8283 78
1,000,000& 1,000
OFZAY 552 HZI ME
80,0002 x5 +23] 800
OHOHIA HEWS ZALZ
600,000 600
oI Sggel 22 HEE XA 32,975 38,475 25,500
Al 28,375




FAN S22
Hm: mojol =2XSA
=2 Hofel =Xsd (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 4,600
307 gl2tol & 32,975 38,475 A5,500
Al 28,375
= 4,600
10 Al SXA2EE 22X 32,975 38,475 25,500
OZRIAHe! 22 XAE K&
28,375,000 28,375
Al 28,375
OFMHIXNFHEL 22/ 29 &
4,600,000 4,600
= 4,600
Z0jots FAUESAE 29 N 86,027 75,414 10,613
Al 86,027
307 elztol & 86,027 75,414 10,613
Al 86,027
10 Al2ISTIAIEEE 22X 86,027 75,414 10,613
O OIS F2UESAIE Q2|
72,868,000 72,868
Al 72,868
O OIS F2UESAIE 2|
12,000,000 12,000
Al 12,000
OZots FUES AL SXELIE
100,000& x2H 200
Al 200
OZMHOls FLESAIE ARIRIZSSE
959,000& 959
Al 959
O A HIHEAE 2S N 268,166 261,691 6,475
Al 263,366
= 4,800
307 212+01™ 268,166 261,691 6,475
Al 263,366
= 4,800
10 AlRISTIAIEEE 22X 268,166 261,691 6,475
OZ0NQ! MNATHEAIE Q14|
223,431,000 223,431
Al 223,431
OZ0fe MATHEAIE 2|
19,366,000 19,366
Al 19,366
OZ0fe MATHEAIE SAlH|
20,169,000 20,169
Al 20,169




SN MBI
M Zoje SXNSH
Rl ZoHe! SXSA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OBONOl HATHEAIE SXEAE
100,000 x4 400
Al 400
OUZHALRI S XA XK &t
100,0002~4&x12& 4,800
= 4,800
ZoHel =UESAIE 2 X 141,118 0 141,118
Al 137,518
= 3,600
307 elztol & 141,118 0 141,118
Al 137,518
= 3,600
10 Al SXAAEEHE 22X 141,118 0 141,118
OFOHRl F2A2SAIE 212H]
123,938,000 123,938
Al 123,938
O =2LESAIE 24|
12,000,000 12,000
Al 12,000
OZ 0l FAEBSAIE SXZE
100,000 3% 300
Al 300
OX0fO! ZAHLSAIE Al 224E
1,280,000 1,280
Al 1,280
OUZtAtRI S XIA XK &H]
100,000 x3&* 12 3,600
= 3,600
OIS MENE 2F XIS 146,000 81,000 65,000
Al 146,000
307 @120l & 146,000 81,000 65,000
Al 146,000
10 Al SXAAEEHE 22X 146,000 81,000 65,000
O NELEEHH 28 N
146,000,000 146,000
Al 146,000
JoHeIgsl SAAY X 33,400 33,400 0
307 elztol & 33,400 33,400
11 AMEISXAIEEXS 33,400 33,400
O SXIALE X2 25,400,000 25,400
OZO0He! A X1 8,000,000 8,000
=7 Checlsile2 24 7,230 4,920 2,310
201 223 7,230 4,920 2,310
01 At22t2lt] 2,790 1,400 1,390
Osd)l 88 =+& 220,000 122 2,640
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SN MBI
M Zoje SXNSH
s ool SXsH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O&™J|IN AT =5 150,000& 150
2 s5=34l 4,440 3,520 920
ORQIZHIAIAE |X2ell
220,000 x 122 2,640
O&slx FAH| 300,000 300
OdE FAlHl 1,500,000 1,500
=& X= 442,525 225,777 216,748
= 309,768
Al 92,930
- 39,827
301 LELEE S 442,525 225,777 216,748
= 309,768
Al 92,930
- 39,827
01 Al EE AL S(FRDEXHA) 442,525 225,777 216,748
o= X=s 442,525,000 442,525
= 309,768
Al 92,930
- 39,827
Zo=EH(Xa) X2 148,196 118,887 29,309
= 103,737
Al 31,121
- 13,338
301 EetE2 NS 148,196 118,887 29,309
= 103,737
Al 31,121
- 13,338
01 Al EE AT Z2(2REXR) 148,196 118,887 29,309
OZ ==L (X&) X2 148,196,000& 148,196
= 103,737
Al 31,121
T 13,338
ZoHe! He+=< 67,550 53,747 13,803
Al 67,550
301 LELE NS 67,550 53,747 13,803
Al 67,550
02 A EE AT S(FANE, XLETHE) 67,550 53,747 13,803
OFe! ==& 67,550,000 67,550
Al 67,550
Foeld=s 2 X2 1,528,655 1,328,034 200,621
= 1,070,059
Al 458,5%6
301 EetE NS 1,528,655 1,328,034 200,621




SN MERID
M Zoje SXNSH
chel: Fojol =XSA (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,070,059
Al 458,5%
01 A2 HSHS(RNEERTH) 1,528,655 1,328,034 200,621
Oduelgs 20 N2
1,528,655,000& 1,528,655
= 1,070,059
Al 458,596
o 2l=dl X 79,525 91,050 11,525
= 63,620
Al 15,905
308 XXM SOIH 79,525 91,050 11,625
= 63,620
Al 15,905
18 SIS0t 4 A A A 79,525 91,050 11,525
Ol 2l=Hl XI&H 79,525,000 79,525
= 63,620
Al 15,905
NASEOHQ! &EH| H A X2 1,600 1,200 400
= 800
Al 800
301 EetE2 NS 1,600 1,200 400
= 800
Al 800
01 AR 2EHSHS(RDNEXRTH) 1,600 1,200 400
OMASE Ol FTH| L Al X
1,600,000 1,600
= 800
Al 800
ORI W 3,743 3,375 368
= 2,994
- 749
301 EetE NS 3,743 3,375 368
= 2,994
- 749
01 Al 2E A S(SRNEXMHE) 3,743 3,375 368
OO0 e 2201+ 3,743,000& 3,743
= 2,9%
T 749
o LT 2 XI& (L Lt2l) 432,514 410,916 21,598
= 216,257
Al 216,257
301 EtE2 N = 432,514 410,916 21,598
= 216,257
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SN MBI
M Zoje SXNSH
Rl ZoHe! SXSA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OIS SKIAAMNY 2 4,850 4,850
201 er23 | 4,850 4,850
01 AR 22| 4,850 4,850
O+2NARA 4o
100,000 x3& * 123 3,600
OM=II1& XNd &ARIE =&
100,000 5 »23] 1,000
OFEHTY S AR2E
250,000 250
Zoje! 2sX=0 A 1,844,306 1,820,830 23,476
= 1,291,014
Al 276,646
- 276,646
307 elztol & 1,844,306 1,820,830 23,476
= 1,291,014
Al 276,646
- 276,646
05 2IR”tRIE = 1,844,306 1,820,830 23,476
Omlel HEXAS0! X2
1,844,306,000& 1,844,306
= 1,291,014
Al 276,646
- 276,646
ZOHIESKIE JHat=E0 X 6,276 2,920 3,35
= 4,393
Al 1,883
307 elztol & 6.276 2,920 3,3%
= 4,393
Al 1,883
05 2I2HRIE S 6,276 2,920 3,3%
OFMEsIA HsH X2
6,276,000& 6,276
= 4,393
Al 1,883
ZOHRIESKIA A=A 98,600 86,832 11,768
Al 98,600
307 @20l & 98,600 86,832 11,768
Al 98,600
05 2IMRIE =3 98,600 86,832 11,768
OIS AE AlBIFIOHAIZA
98,600,000& 98,600
Al 98,600
SETHEMHIA BIRH X~ 59,120 69,029 29,909
= 41,384




SN MBI
M Zoje SXNSH
Rl ZoHe! SXSA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 8,868
T 8,868
307 lztol & 59,120 69,029 29,909
= 41,384
Al 8,868
- 8,868
05 2ItRIE = 59,120 69,029 29,909
OgEMEAMtIA HIeX X
59,120,000 59,120
= 41,384
Al 8,868
- 8,868
LE R FHESHHIAXIRA 145,806 107,000 38,806
= 102,064
Al 21,871
- 21,871
307 212+01& 145,806 107,000 38,806
= 102,064
Al 21,871
- 21,871
05 212+ =S 145,806 107,000 38,806
OLLTORl FAHEMHIAKI
145,806,000 145,806
= 102,064
Al 21,871
- 21,871
LLHR! FHESAHIA AHIFILAIZ 3,000 3,000 0
Al 3,000
307 el2tol & 3,000 3,000 0
Al 3,000
05 2ItRIE = 3,000 3,000 0
Ol F2H2SAMBIA AIBIFIIXIEA
3,000,000& 3,000
Al 3,000
LEHR LU=SSAHIAXZ 78,320 48,940 29,380
= 54,824
Al 23,4%6
307 glztol & 78,320 48,940 29,380
= 54,824
Al 23,4%6
05 212t =S 78,320 48,940 29,380
Ogadie s =SHHIANA
78,320,000 78,320
= 54,824




SN MBI
M Zoje SXNSH
Rl ZoHe! SXSA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 23,4%
22T FRA4EXEH 2,400 0 2,400
= 1,680
Al 720
307 212+01& 2,400 0 2,400
= 1,680
Al 720
05 2ItRIE = 2,400 0 2,400
Ogadie FR4EX
2,400,000& 2,400
= 1,680
Al 720
HYPEGH (M2 157,185 138,733 18,452
s 60,232
Al 15,059
- 58,734
= 23,160
el 2| 98,451 94,894 3,557
[ 60,232
Al 15,059
= 23,160
Atell 22| BRI RS 98,451 94,894 3,557
= 60,232
Al 16,059
= 23,160
101 @124H| 90,219 86,979 3,240
s 55,594
Al 13,899
= 20,726
03 SR (RIH )22+ 90,219 84,259 5,960
OJIZ28 (At 2E)
33,331,500 2 66,663
= 53,330
Al 13,333
OXMd==& 20,726
ocHEFIHI 2,280,0002 x2&H 4,560
= 4,560
ocHIIEA S 1,339,000& x2& 2,678
= 2,678
oAl 1,500,000 x2H 3,000
= 3,000
ol SH| 1,500,000 x2H 3,000
= 3,000




SN MBI
B WEHSHAH| (MEERD)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ol 3,744,000 x2H 7,488
= 7,488
Odltati= 1,415,000& x2H 2,830
= 2,264
Al 566
4 HSRESS 8,232 7,915 317
= 4,638
Al 1,160
= 2,434
M D2H(RDHH 2R PHELLD 8,23 7,915 317
002, PEE, 83 S
2,899,000& x2&H 5,798
= 4,638
Al 1,160
CEENCEEREEEYICEL)
1,217,000& x2H 2,434
= 2,434
=38l 58,734 43,839 14,895
A2 58,734 43,839 14,895
201 fer= 3| 10,206 9,639 567
01 At 2t 10,206 9,639 567
OfLM2dg Jl2+s4l 279,000+ 18 5,022
OJlzgf=d Sl
8,000 x341%188 %123 5,184
202 04l 44,928 30,600 14,328
01 =LHA LI 44,928 30,600 14,328
OJlzge+4d 0|
260,000 x 182 * 12 +80% 44,928
203 =4l 3,600 3,600
04 FAE2EERFAH 3,600 3,600
ORNEXZZE 300,000 * 122 3,600
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